8

INCH 80A813

FRONT VIEW
DOOR REMOVED

L;

Rl
T
I
! i
bl
e+ +JF Qe » +
=gl e ¢ ¢
] T
b T
| R
RS axj%F s & &
pdle el e 4 @
LN ES .
{ | =H
I |
MER o
[ P
I |
I | .
|
4

RIGHT SIDE VIEW

DOOR REMOVED

ITEM | QTY. DESCRIPTION
1 1 80E174 SHORE POWER PLATE
2 3 HBL2615 RECEPTACLE (HUBBELL> FLNG/INLET
3 2 2609 #6-32x3/4 SCREW
4 2 1206 #6-32 NUT (W/ STAR LOCK>
S ° se2 #6 FLATWASHER :
6 6 70005 1/4-20x1 STAINLESS STEEL BOLT
7 6 33618 1/4” LOCKWASHER
8 6 71803 1/4” STAINLESS STL FLATWASHER
2 2 REMOTE S/S AUTO CONTACT
10 1 80E173 HARNESS - LOAD PAN DC
E
D
c
B
W ALTORFER POWER SYSTEMS
Ta 6315 W. FAUBER RD. PHONE (309) 697-1234
BARTONVILLE, IL 61607 FAX (309) 2827546
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN PERMISSION
OF ALTORFER, INC., ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED A
& |aLL piMEnstons 1N incres |FIHE PROJECT REFERENCE
G |UNLESS OTHERVISE SPECIFIED DF\80A APS800A C27 POWER MODULE
= TOLERANCES: THIRD SCALE/SHEET SIZE DRAWN BY QUOTE NUMBER
W xx £ 0100 ANGLE
Z |XXX + 0060 PROJECTION 1=10/B D. RICHARDSON
G |Xxxx = 0005 SHEET DATE WORK ORDER NUMBER
ANGULAR + 1* @ = 10F 1 8/14/06
TITLE SHORE POWER GROUP DRAWING NUMBER
HEIE

INSTALLATION ARRANGEMENT 80A813
[




